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QUESTION 1

You are a NetApp Professional Services engineer, employed by NetApp. You have just completed an ONTAP cluster
installation. You need to collect the relevant configuration information to enable the Service Event Report (SER) to be
created.

Which tool would you use to accomplish this task?

A. Active IQ scheduled reports

B. NetAppDocs output report

C. ONTAP System Manager

D. Active IQ Config Advisor worksheet

Correct Answer: A

QUESTION 2

You are installing a 4-node AFF A400 cluster and are asked to create a custom security message before and after user
login. Which two security features are used to perform this task? (Choose two.)

A. EMS

B. banner

C. motd

D. AutoSupport

Correct Answer: BD

QUESTION 3
Click the Exhibit button.
Mar 18, 2020 07:35:35 CDT HA Group Notification (CLUSTER NETWORK DEGRADED) ALERT

Mar 19, 2020 22:04:20 CDT HA Group Notification (Health Monitor process cshm:
SwitchIfInErrorsWarn Alert [NODE NAME-swl (SWITCH SERIAL NUMBER)/Ethernetl/8]) ALERT

Mar 12, 2020 20:58:38 CDT HA Group Notification (Health Monitor process cshm:
SwitchIfInErrorsWarn Alert [NODE_NAME-swl (SWITCH_ SERIAL NUMBER)/Ethernetl/8]) ALERT

Your ONTAP cluster shows the cluster network errors that are shown in the event log. What is used by ONTAP software
to log the errors that are shown in the exhibit?

A. SNMP
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B. AutoSupport
C.BGP
D. EMS

Correct Answer: D

QUESTION 4

You are setting up a new AFF A400 that will serve iSCSI LUNs. You will have four iISCSI SVMs that each need to
connect to an Internet Storage Name Service (iISNS) for discovery and management purposes. In this scenario, which
network interface is needed for each SVM to register with the name service?

A. SVM data LIF

B. SVM management LIF

C. node management LIF

D. intercluster LIF

Correct Answer: D

QUESTION 5
Click the Exhibit button.

clusterl::> network device-discovery show

Node/ Local Discovered
Protocol Port Device Interface Platform
nodel/cdp
eda switchA-NX.netapp.ccm(33I142311PD)
el/1/1-4 N3K-C31320-V
e8a switchA-NX.netapp.ccm(881142311PD)
el/2/1-4 N3R-C3132Q-V
node2/cdp
eda switchB-NX.netapp.ccm (SSI142311PE)
el/1/1-4 N3R-C3132Q-Vv
eBa switchB-NX.netapp.ccm(3S3I142311PE)
el/2/1-4 N3K-C31320Q-V

You are reviewing the setup of a recently installed FAS9000 switched cluster. As shown in the exhibit, the cluster
interconnects are connected to a pair of Cisco Nexus 3132Q-V 40 Gb ports. For a high availability, which ports should
swap Ethernet cables?

A. Swap nodel:e8a and node2:e4a.

B. Swap nodel:.eda and nodel:e8a.
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C. Swap node2:e4a and node2:e8a.
D. Swap nodel:e4a and node2:e4b.

Correct Answer: C
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